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(1-1)

f(z) = 2% — 22
(1-2)
flz) =2
(13
f() = sin(z)
DDDD}{ESIH}E}}) —1 ,}IHOCOS(h)_l:0DDDDDDDD
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Func void main()

{
Real t,x,x1,u,h;
Real a,b;
Array tarray,xarray;

Integer i,N;

a = ;
b=1.0;
h = 0.05;

tarray = [-2.0:h:8.0];
N = length(tarray);
xarray = Z(1,N);
x = 0.0;
u=0.0;
for(i=1; i<=N; i++) {

t = tarray(1,i);

ifCt>0) {u=1.0;}

xarray(1,i) = x;

x1 = x + hx(-a*xx + b*u);

x = x1;
}
mgplot_grid(1);
mgplot_yrange(1,-0.5,2.5);
mgplot_xlabel(1l,"time t[secl");
mgplot_ylabel(l,"response x[-]1");
mgplot_title(l,"1lst order differential equation");
mgplot(1l, tarray, xarray,

{"x"},
{"linewidth 3.0"});
mgreplot (1, [-2 8],[0 0],{""}, {"linewidth 1.0"});
mgreplot(1, [0 0],[-0.5 2.5],{""}, {"linewidth 1.0"});
}

main

-
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(1-4)
fla)=e
DDDDJi_}H;O<1+i>n:6DDDDDDDD
(1-5)
hw) = f(2)g(x)
(1-6)



